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IR 4.1. RD 2 ZHE f(z,y) T LT, ROMEZE KD &.
o f(z,y) =y’ DL E,

(1) f(0,2)=0-22=0

2) f(2,-1)=2-(-1)3=—2

o f(z,y) =3z +4dy—a?—y> DL Z,
(3) f(1,2)=3+8—-1-4=6

(4) £(3,4)=9+16—-9—16=0

o f(x,y) = min{dz, 2y} D& &,
(5) f(2,3) = min{8,6} =6

(6) £(1,4) = min{4,8) = 4

B8 4.2. RO T T 7 21T (FIT x,y =2 0 DFEPFATZIF K\W). 72720, #Hedl - #fih e £12
1HEDZ 1 &9 5.

(1) dx +2y =16 DI 77
o BT HL, y=—22+38

DT, YAt 8, HE D —2 DEKR.
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(2) min{4x,2y} =8 DI 77 L
o 4y =8 < & x =2 L

e 2y =8 %fii< L y=4 3
1 L

RDT, K (2,4) 2L T5LFEHDITT 7.




